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CRACK THE CODE!!
OH NO!!! The Fairground mascot, Keith the Kangaroo, has been hidden and you have been asked to find him before the big procession later today.  A note has been left giving information to help you but to read it you need to first crack the code.  Just to make it harder one of the words might be an anagram (a muddled up word)!!  Can you solve it in time to get Keith back before the procession?
	A
	B
	C
	D
	E
	F
	G
	H
	I
	J
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	L
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	P
	Q
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	46
	2
	23
	64
	398
	16
	458
	42
	22
	72
	192
	4
	87
	24
	92
	163
	5
	111
	465
	90
	3
	1000
	19
	88
	1764
	53


Work out these sums and problems, each answer will give you a letter which you need to write down to crack the code – also note down your answers in case you make an error, then you can easily check it!!

1.  164 + 28 = 
2.  What is the difference between 763 and 365?  

3.  4 x 6 – 2 =  

4.  Multiply 5 by 3, double your answer, then multiply this by 3
5.  6 x 7 = 
6.  Half 84  

7.  (¼ of 64) + (6x5) =  

8.  843 – 378 = 

9.  Sarah has a pack of 98 pencils, she wants to share these between 12 friends – how many will she have left over if she shares them equally? 
10. Half of 796

11. Double 100, then double the answer, then subtract 2

12. Bobby had 12 pens, Fred had 36, Jon had half of their total – how many did Jon have?  

13. What is the missing number in this sequence?  336, 168, 84,  ?, 21, 10.5

14. 11 x 2 =

15. What is the next number in this sequence? 1, 4, 9, 16, 25, 36, 49, ?

16. Double 32
17. Multiply 20 by itself then take 2 away from the answer

18. 96 divided by 4

19. What whole number will an even number always divide by?

20. 125 + 186 + 87 = 

21. 3 x 7 x 2 = 

22. Double 11

23. Bill is 12, his sister is 18. Take 6 away from their combined ages to get your answer

24. If I have 1 litre of milk and I need to use 312ml each for 3 different drink recipes, how much will I have left? 

25. 1/5 of 450?

26. Double 20 and add 2

27. Half of 796

28. If you add up the sides of a pentagon, hexagon, octagon and square how many sides all together? 
29. Double the answer to question 28.

30. How much would 3 games cost in total if they were £8.00 each? 

31. 2 x 8 then multiply the answer by 4

32. What is the difference between 3658 and 1894?

33. If Emma was born in September 1997, how old (in years) will she be in October 2013?

34. Jim had £15 to take to the fair – he had 4 turns on the “Hook a Duck” stall, each turn cost £1.50, he then went on the Dodgems and they cost £2.00, he then bought a bag of candy floss which cost £3.00, how much has he got left? 

35. Double 36 then add 20

36. 200 x 2 + 65 = 
37. 500 – 35 = 

38. Half 16 then half the answer

39. 4 x 10 + 6 = 

40. 9 x 10 = 

41. 93 x 5 = 

42. Divide 100 by 25
